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seql = seq(M, n=1 -~10)5

(n*—n—1)
seql = —3,5, L, 2 1L 13 15 17 "19 21 )

5211719729 41° 55 717 89
List :=[1, 46, 100];
List =1, 46, 100] @)
List[2];
46 Q)

List2 := [seql];
=] 35 L 9 1L 13 15 17 19 21
List2 : [ 3’5’5’11’19’29’41’55’71’89] @

A:=1{1,2,511};

A={1,2,511} ©)
B = {seql};
a7 9 11 13 15 17 19 21
B: { 37575’11’19’29’41’55’71’89} (6)
C :=A union B,

C::{_3’1’2’5’1111££££££} (7)

S :=A intersect B;

§={5} ®)
1
seq2 :=seq| ———Pibn=1.5 j;
( (n2+n)
1 1 1 1 1
seq2 = ) T, G T, 2 T, 20 T, 30 T &)
set3 ;= {seq2};
O T e L I
set3.—{ 2 T, 20 T, 30 T, ) T, G n} 10)
map(sin, set3);
{1 1 sin(Ln) sin(Ln) sin(Ln) 11
> 27 12 ) 20 ) 30
Pi
t4 =130, Pi, — };
se { , I 4 }a
setd = {0, T, % Tc} (12)
seq4:=seq( ( _i)'Pl,nZI .3);
se 4'=0Lnin 13)
ARV

map(cos, setd);

(14)



=> for k from 1 to 5 do
ac[ik-l-l]::f(a[k]);
oa,

> g=x—>28 x— xz;
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g =x—28x —

_> plot(g(x),x=0..3, thickness =4, color = blue);
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(2073
> lzmzt[ ( ln 3.nt1) , n =infinity |;
2" +3-n7—1
i L 2-n2—3-n+1
> [limit 2 , n =infinity |,
3-n"—1
) 1
> limit(nn,nZinﬁl’lily);
B
o (2"+5") A
> llmlt( 2n+p+5n+p,n—mﬁnzly ;
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